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SECTION - A

JDD-5/LAB ASSTT/X-15

i} General Awareness

B. Ramalinga Raju was sentenced to 6.

six month’s jail in
B-12-2014.

(A
(8)
(C)
(D)

Marendra Modi sworn in as the

26-5-2014.

(A}
(C)

SCAM an

iron ara
Satyam
Infosys
Belikeri

Frime Minister of India-on

{3t
150

-iEIh
140

(B)
(D)

In the Ranji Trophy game, being
mayed in Bangalore on B-12-2014,
Abhinay Mukund played for

(A) Karnataka

(B} Tamil Nadu

{C) Andhra Pradesh
(D) Maharastra

According to Nirmala Sitaraman,
Commerce and Industry Minister,
India is World's 18" largest exporter
and _ largest importer.

(A) @gnd (B) 218t
(C) 20% (o) 120

B. The headguarters of UNESCO Is at
3. Which of the following is not a member

A (A) Paris
f SAARC 7
@ (B) Hague
{A} Thailand [C} New York
(B) Bhutan (D) None of these
C) Afghanist
(&} Mgnanisn 9. Which of the following is the National
{D) S Lanka Bird of India ?
4. Mahinda Rajapaksha is the President of i () Eagie
{C) Pesacock (D) Parrot 3
(A} MNepal (B) Bhutan
(€) SriLanka (D) Mauritips | 10 Which state is called "Ricebow" of
India *#
5. Tejaswinl and Mamatha Poolarl are {A) Haryana 1
associated with (B) Kerala
(A) Boxing (B) Shooting (C) West Bengal
(C) Welght lifting (DY Kabaddi (D) Andhra Pradesh

https://www.freshersnow.com/previous-year-question-papers/
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(A) e ufE

(B) Hray

(C) FAHiEm

(D) wEfied
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(A) 163 (8) 134

() 144 (D) 154
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»

(A) @i
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(C) FAFmFE
(O

W= TR B 391 o SN B
(A) TR

(B) “aH

(C) sitefam
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(A) TS (B) wfdn
(C) anIHEA (D) g

&
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8 12-2014 % o7 dmegs & g 78 o
i e & safier g T ¥ fo e
(A) AT

(B) wimeang

(C) 31y weH

(D} HERTE,

ﬁ'ﬁfﬂTﬁﬂml{H,d‘rﬁFﬁr W e s &
SHT M 999 =119 F1awad e Falq
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(A) 2247 (B) 214

(C) 20 (D) 124

T (UNESCO) =1 e 4ei &
(a) uim

(B) ¥

(C) L

(D) §3H | IS

T 3 R sy ) o wef 8 7
(A) Tabza (B) e

(C) =m (D)

VWA JEE TSR IR gea
(B} =
(D) 31" 92y

(A) BT
(C) whvan Tme




1,

12

13

14,

15.

Ax

What is the rate of escape velocity 7

(A} 10 kmi/sec.
(B) 11 kmisec.
(C) 12 kmvsec.
(D} 13 kmisec.

Which one of the Buddhist sites does
not have rock cut architecture 7

(A) Ajanta
(B) Karla
(C) MNasik

(D) Nagarjunakonda

A perfact black body is the one which

(A) Absorbs all tha incidental radiaticn

(B} Absorbs nong of the incidental
radiafion

(C) Reflects all incidental radiation

(D} Is painted perfectly

Hirakud is associated with
(A)
(B)
1)
(D)

Sutlej
Beas
Mahanadi

Cauvery

Amaong the following, who was elected
unopposed as the President of India 7

(A} Dr. 5. Radhakrishnan
(B} Dr. Zakir Hussaln

(C) Neeglam Sanjeeva Reddy
(D) V.V, Girl

https://www.freshersnow.cor
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18.

18,
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The self styled godman
was arrested in November 2014 from
the hideout in his ashram in Hisar
district of Haryana,

(A} Rajpal

(B} Rampal
(C)
(D} None of these

Ramial

Carrot and Mango are rich sources of

(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D} Vitamin D
The shape of the Earth is

(A) Spherical (B) Circular
(C) Tetrahedral (D} Geoid

How many hurdies are there in the

400 mH ?
(A) 20 (B) 10
(C) 15 (D) 16

Advocate General submitted on
12-12-2014 to Bangalore High Court
that the reports of DNA test '-
conducted on , seer of
Ramachandrapura Mull are positive.

(A)
(B)
(C)
D)

Raghaveshwara Bharathi
Raghavendra Bharathi .
Raghuveera Bharathi |
Rajeshwara Bharathi



11.

12

13.

14,

15.

Ax

FfEmanF T e 7

(A} 10kmisec.
(B) 11 kmisec.
(C) 12 kmisec,
(D} 13 kmisec,

A W e O R & e e i 87
(&) S

(B) =hTen

(C) I

(D) TR

iyl g fvg ot B &
(A} Bl g‘lgﬂrﬁma Tt = srawmm

Al

(B) =08t syeunTs SR Agsmm
EGE TG

(C) i pifies R Rraati e
(D) = wfoqu e & T gan B

fEomE oy TEE 2
(A) HieT
(B) Fam
(C) waEmd
(D) R

m%ﬂgﬂmmﬁlmmﬂ
(A) E1. U8 T

(B) &, R EE

(C) fiem wefta )

(o =

16.

17.

18.

18,
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w38 ae FEa g e
Foret o aem g o & Tewt
2014 § TR famn |

(A) TR

(B) THITEA

(C) TS

(D) 57 & =g el

TR 3 A s e a2
(A) Faefema (B) FE=f e
(C) fa=f=c (D) F=maD

e 1 AT B
(A} TITETERR
(B) TERE

(C) e
(D} TasTe (Geold)

400 mH o Frei aami B 2 7

(A) 20 . (B) 10
(C) 15 (D) 16
12-12-2014 % fo= Tora=T W &
] 77 R dheu
e wERTEE u g T vaaee
S A s I A H e |
(A) TTEETEE YR

(B) THEE YRR

(C) TEET ST

(D) T wRR




Directions (Qs. 21 and 22) : Choose the pair
which shows similar relationship that the given

JDD-5/LAB ASSTT/X-15

if} General Intelligence and Reasoning Ability

pair shows.

21,

23.

24,

AB 123 1 CD 456

(A} PQ234:5T 565
(B) EF 345: GH 887
(C] JK 345 LME78
(D} PQA456: ST 789

CEH : IKN

(A} CDF: WK
(B) EFH: KMN
(C) ACD:FHJ
(D) 0QT:UWZ

S = the sister of B, B is the sister of
Q. P is the brother of Q, How is Q
related to 5.7

(&) Brother

(B} Sister

(C) Brother or Sister
(D) Son

How many &'s are there in the
following number series which are
preceded by 5 but not followed by 7 7
BEB7TEH6492T6T7T4356821567

(A) 2
(B) A
{C) 4
{D) 1

25.  Which circle continues the sequence ?

ololeleNg
A ®
® @
e @
i @

4 years ago Ajith was 6 years older
than Anil. What is the dilference of
their ages now 7

(AY 10 years
(B) & years
{C} 4 years

(D} 2years

In a certain code "XYZ' means ‘we are
friends’, 'PYN' means ‘They are
boys’, 'ZMS' means ‘we love them',
Which letter stands for ‘we' 7

A 2

(B) ¥

C) S

(D) M
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ii) T e AL AT icheh Argd1
W, 21 3 22 F oo Fdter ; T 09 =l @ e 95,  Shi-E] §7 HER F1 T = 7
T VAT 181 = I | P00 "
21. AB123:CD 456 Al @
(h) PQ234;ST565
(B) EF 2345 : GH 687 ® @
(C) JK 345 LME78 < @
D 456 - ST 789
(D) PQ 0 ®
22, CEH:IKN
(A) COF:LIK 26, 4 TIE Y9 W 98 AfE | 6 Hie 92
(B) EFH:KMN o] | 398 I I T R B 7
(C) ACD:FHJ
(D) OQT: UWZ iy 1R
(B) &HW
23, STEAFAF LI Am QR TA R
PaEQEWE R | QFSHFENA@ER? (C) 4T
(A) Wi (0] 24«
(B) =4
(C) = o7, u% fafgag g2 d XyZ' ®) woera @
(o) EEll ‘#f:ﬂ'ﬂﬁ;gﬂn PYN' S HgeE B, 2 3
Algd SIUZMS Figaaa e, dreasy |
04, Frmr wem seen § W P 6 b e Y’ I e A R 7
Tee SR e A d 7 i 2 A Z
FE76564927674356821567
Ay 2 @ v
o 2 (€ S
(C) 4
(D) 1 oy M

A*x




28, Which allerative does not belong the
‘group of the other three 7

(&) Mobile Phone
(B} T,
(C) Radio
(D) Computer
29, Keep the odd one out,
(A) Red
(B} Read
(C) Blue

(D) Green

Directions (Qs. 30-32): A, B, C, D, E, Fare

sitting in a circle at equal intervals, facing the

gentre, not necessarity in this order. A Is

diametrically opposite to F. D is immediately to
the left of F. B is the neighbour of Cand F.E is

the neighbour of A and D.

30. Whols secondtothe leftof A 7
(&) E
(B) D
(Cy C
{0y B

31.

JDD-5/LAB ASSTT/X-15

Who is diametrically opposita to D 7
(ay E
(8)

C
(€} B
@ o
Who is second to the nght of F 7
(A C
8 8
{Cy D
() F

¥ '~ means '+’ 'x' means '+,
'+ 'means ', and '+' means -,
5!]—51‘2-:-5-1—20:?

(A) 6

(B} 10

(C) 0

(D) 5

Manoj is shorter than Balu who s
shorter than Ajit, Sathish is not as
short as Ajit. Who is the shorest 7

(A) Balu
(8) Ajit
{C) Satish

(0} Mangj




28,

s e A i1 & w8 i
L

(A} BEEEEH
B) &,

(C) e

(D) PR

ferm =1 st ThE |
(A)

(B) W

(C) e

Oy &=

w.30-32% e fEn . A B, C, D, E FEAH
ST B T g A e ) iR e R A E |
TR W A gn AR T A v R
ffdrs et Dm FF g o R
prECcanFmoEdi 2 iEaAsiiDR TR

30,

Ax

AR ST TR R AR 7
(A} E

(B) D
(C) C
(D) B

31,

3.
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D&% =i i #9 § 7
(A)
(B)
(C)
(o)

g @ o m

F & Fife-] 37 g8 S W § 7
(A) C
(B) B
(C) D
@) F

Afa ' W HaeE 8, % FHAEE R,
4 T e 5 B 3R e R, Al
B-5x2+5+20="7

(A) @

(B) 10

(&) @

(D} 5

WeTE WE WL E A1 8, W wEmE e f
oftm 78 afem & Fem A @i e g
HAG AT B 7

(A) L

(B} R

(c) =fEm

(D) WA=




35.

37,

John travels 5 km fo the South and
from there 5 km to the East, from there
10 km to the North. In what direction
is he now from his starting point 7

(A) Morth

(B} North-East

(C) North-Wast

(D} West

Which of the following cannol be

formed from the letters of
'LUBRICANT 7

(A} RAIL
B) TRAIN
(C) GIAL
(D) BRIC

In the alphabets A to Z, written from
left to right, starting from A, which letter
is 4" to the right of the letter which is
15! when counted from the right 7

(A) L
(B) M
(G) P

@) a

39,

40.
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Choose the correct alternative which
can raplace "7" mark.

5] 2

a (5]

2 3
18 24
(A) &0
(B) 35
(cy 12
(D) 40

ﬁhm_m
=3 th W 4

When Sandeep reached the Railway
station, it was 5 minutes late and the
train had already departed. The
scheduled time of departure ol the
train was 10.45 A.M. The time faken
by Sandeep to reach the Rallway
station from his house was
30 minutes. At what fime did he start
fram the housea ?

(Ay 10,20 AM,

(B) 1015 AM.

(C) 10.35AM.

(D) 10.25AM.

In a telephone directory, which of the
iollowing names would appear in the
middle ?

VISHWAS, VANSHIKA, VIPUL,
VEENAJAL, VIJAYARAJ

(A) VANSHIKA
(B) VEENAJAL
{C) VIJAYARAJ
(D) VISHWAS

18



6

35,

36.

37,

w1 wig T 5 fa i, o # ofi =w
& 5 T i, ud & iR =T | 10T,
I A Fem A S 2 | m e g g
# e e 2

(A) I

(B) -

(C) Fo-ufr=m

(D) i

'LUBRICANT' %18 3 3wl & f= 1§ &
SRIH] T8 T S FHFA L 7

(A) RAIL
(B) TRAIN
(C) GIRL

(D) BRIC

A E SN FTd TUA R Z #i FviEer, o
vl & e An fordi g @, e wfed
R H 159 Haw F e Hn = s
AR ?

(A) L
B) M
© P

D) Q

38.
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o Ta7g o T T e 98 ey

T
¢

3
2 3
18 24

2 &

nJ
=3 N @ &

28
(A) B0
(B) 35
(C) 12

(D) 40

S HE e T T e e S e 20
TEdl 3N &7 =6 g 41| ¢ & WF
fFraif w0 1045 A M. &1 W & wyH
T GEE o feTs warg =i 30 e o omg
o o | T8 319H W B R 7
(A) 10,20 A.M.
(B) 10.15AM.
(C) 10.35AM.

(D) 1025 AM.

oferrE Feim g e g SR amEe
T s

VISHWAS, VANSHIKA, VIPUL,
VEENAJAL, VIJAYARAJ

(A)
(B)
{C)

VANSHIKA
VEENAJAL
VIJAY ARAJ

()

VISHWAS
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iii) Arithmetical and Numerical Ability

In B pair of fractions, fraction 'A’ is
twice the fraction 'B' and the product
" 2
of two fraction is 55
value of the fraction ‘A" 7

What is the

1 2
(A) - (B) 5
(C) zsi (D) None of these

In a two digit number, the digit in the
unit place is four times the digitin ten's
place and the sum of the digits is
equal to 10. What is the number 7

(A) 28 (B) B2
{C) 64 (D) 46

A person travels from P o Q at
25 kmyH and return from Q o P at
30 kméH. Find the average speed of
his total journey.

(A} 27.5km/H  (B) 27.75 kmvH
3 5
i - i ==

() 27 kmH (D) 272 kmH

The length of a rectangle is 20% more
than its breadth. What will be ratio of
the area of this rectangle to the area
of a square whose side |5 equal to the

breadth of the rectangle ?
(A) 6:8 (B) 6:5
(C) 2:1 (D) 4:3

45.

47,

48.

Threa coins are lossed together. Find
the probabiiity of getting at least two
heads.

(A) (B)

o | e

mith o -

(C) (D)

Py | =

A box contains 7 red balls, B green

balls and 5 white balls. A ball is drawn
at random. Find the probability that
the ball drawn is white.

5 7
N 1 2

5 1
©) 13 o 2

Ajith invests Rs. 36,000 in buying
RAs. 100 shares at As. 20 premium.
The dividend is 15% per annum. Find
his yearly dividend.
{A) Rs. 4,000
{C) Rs. 4,500

(B) Rs. 5000
(D) Hs. 5500

The capacity and the base area of a right
gircular conical vessel are 98568 om?
and 616 cm? respectively. Find the
curved surface area of tha vessal.
(A) 2200 cm? (B) 2000 cm?
(C) 2500cm? (D) 2250cm®

https://www.freshersnow.com/previous-year-question
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1i#) sterr v vd wreaTee T

. Pmfaddfimamimedgm?

2
— B fmeaw

it 2t s 1 o

R 7
1 2
A £ B ¢

© (D) s A=t

U 21 e HIE | SohTs T o] 35 597
T % ¥ ° =N 8 AN SE1 o W\
e 108 | 98 O w1 7

(A) 2B
(C) 64

(8) 82
(D) 46

T = fE PH O 7 F1 gl 25 kmy/H T 3R
Q@ P o At Z 60 kmH 8@ @ R
ot Jt i it e e i |

(A) 27.5 km/H (B} 27.75 km/H

O) 27— kmvH

(C} ETEHI‘I"I.-H 11

"

T 3T ohl oS 38h Sl A 20%, 3t
21 UH A % EEHE W 394 9181 %
ACATETE 51 o 271 o & § S
T 7

(A) 5:6

(G 2:1

{(B) 6:5
(D) 4:3

-13-

45.

48.

47,

48,

# fae=l Fl tFEM IgEN A & | A E
w0 21 o a6 A a7

oo | G

(A (B)

1
5 (D)

oo | in o | —

()

o w0 7 T F, BRI e
5 WHZ 1 % 718 & | Uk 718 41 w1 Framen
aimar 3 1 aw Frasre mn i wike g weeh
HET=AT 9] = |

A E

A%, 36,000 TH %, 100 95 99 4
fam s e, s, 20 g o | s
ATE1 15% 8 | i sy g $ifs |

(A) %. 4,000 (B) ¥. 5,000

{C) ¥%.4,500 (D) % 5500

T F A SRR @0 3 TR S
T S S AT 9856 o STB16 o
| 30 =6 o A S SRt T i |

(A) 2200 cm? (B} 2000 em?

(C) 2500 em? (D) 2250 em?

x

_,,__
B

. —



51.

52.

. A tangent s drawn from an external

point ‘X" to the circle of Radius 5 cm.
If the point is 8 cm away from the
circle, find the length of the tangent.
(&) 15em (B} 13¢cm
(C} 12em (D) 10cm

The diagonal of a square is 1242 em.
Find the perimeter of this square.
(A) 50cm (B) 48.cm

(C} 40cm (D) 45¢cm

Geetha purchased face-cream for
As. 79.10 including sales tax. I the
printed price of the face-cream is
Rs. 70, find the rate of Sales Tax.

(A} 10% (B} 11%
(Cy 12% (D) 13%

The present population of a town Is
75000. The population Increases by
10% In the first year and decreases
by 10% in the second year, Find is

population after two years.
(&) 74000 (B) 74250
(C} 74500 (D) 74750

A sum of money I8 invested at
compound interest payable annually.
The amounts of interest in the first and
second years are Rs. 225 and
Rs. 240. Find the rate of interest.

2 1
(&) 6% (B) 6%

3 1
(€ 6% () 6%

54,

58.

57,

B8.
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The average weight ot 43 students of
class is 51 kg. When a new student
joined the class, the average weight
became 51.2 kg. Find the weight of
the new student.

(A} BO kg (B) S59kg

(C) 5Bkg (D) 61ko

The median of 37, 36,39, 36, 40, 3B, 33 is
(A) 39 (B) 36

(C) 38 () a7

If /6 =2.449  find v24

{A] B9.796 (B) 4.898

(C) 2756 (D) 6.251

The area of a rhombus Is 84 cm?, If

the length of ane diagonal is: 14 cm,
find the length of the other diaganal.

(A) 12cm (B) 14cm
{C) 13¢cm (D) 16cm
"ﬁ%ﬁ:tﬁ find x

Ay 16 - (B) 15
cy 14 (D) 12

x:y=3:4,y:z=2:3lindx ¥y z
(A} 3:4:2 (/) 3:2:3
(C} B:4:8 (D) 2:3:4
12 men can finish a work in 16 days

by working 5 hours/day. How many
days 10 men take to finish the same

work by working 8 hours/day 7
(A) 14 days (B} 12 days
{C) 10 days (D) 11 days
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49. scmiEnkqmEHEaEh g Awdsn | 54 w0 wEi A shwm e 51 kg d |
i & | afi aw R ard s emgfinee, U T BTF & IS B H 3a S Jwe
1 35 TR o) FARETS T e | 51.2 kg BIFTE | 7R BT 0w A e |
(A) 15cm {B) 13cm (A) 60 kg (B) 59 kg
(C) 12em (D) 10em (C) 58kg (D) &1 kg
55, 47,36, 39, 36, 40, 38, 39 i ik
50. A = e 12/2em 2 | @i A () 38 {B) 36
e e e | (C) 28 (D) 37
(A) 50cm (B) 48cm 56. 4t B =2.449 , 71 V24 FE T
(C) 40cm (D) &5cm #ifa |
(A) 8796 (B) 4.898
51, i sk T s amg 5. 79104 (C) 2.756 (D) 6.251
W'“ﬁ“ﬁmm‘f?ﬂi 57. UF GUEgHS % SA%e 84 em? 2 | T
ot feh =5 260 =t v T | u e o e 14 om B, A Rl
(A) 10% (B) 1% &1 TS WAl A
{C) 12% (D) 13% (A) 12cm (B) 14em
(C) 13em (D) 16cm
52 U F ) SAUH FAEE 75000 # |
e ved o 10% AR st | 50 R 2 -V 8 & mrmen
i 10% 4 0 B R, A S A f1zs X
s A i
(A) 74000 (B) 74250 (A} 18 {B) 15
(C) 74500 (D) 74750 a9 {F)rite
59, W x:y=3:4,y:z=2:3% 7 1
53. U U1 W] T e A W = t1y i E="T |
vt & | wwet ofw g ad faen gan s (M) 3:4:2 (B) 3:2:3 [
5, 205 315, 2401 | T AT TAT IR | it e (D) 2:3:4
g 1 BO. 12 #EHI UM 5 U2 & F U6 FW
(A B3% (8) B,% 16 et v § | T 8 W
3 1 e Fm 10 e feemt B 0 gl =i 2
(C) EE% (D) EE% (A) 14 A By 127
() 10 f (o) 1111
Ax -16- W
|
I
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iv) Test of Language : Hindi
wrTaT wteor § fEat
w1 o e ST I 65 & 6o Tfefign Wesl & T A w0
FeeE | T ffay, |
(A) TS B5. Tehiet
B) T (A} TERTETAl (B) T
(C) =iehern (D} e
(C) = fagmm
Sk 86, Al
() (A) Srawh (8)
C o) w4
BV . | () - i
67, HwHE

(A) HTHTE AGHTE

(B) e

(C) TR AT e

(D) wfm

v gTeR = Tea eS|

(A) HEE
(B) HW

(A) AT (B) ATeHTa
(C)  HPHTETE (D) =

g8, B
(A) oI (B8) R
(C) BRrA (D) B
89, =
Ay ¥| (B) #F
(C) &M (D) Ea
70 39t 71 BE T & A9 A i |
70. TFAEE
(A) Tamyems (B) B8 HHH
(C) Wi TR e (D)
T EEE:E
(a) TE (B) &R
(c) s (D) Heges

=16~
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768 78 = Tl e = R R T T
wel o e Tefan |
T o FiETe weEl g o I I A |
ax faen avir wwgn o @ | el o fim
ATl d g vt o o freg w e e |
L 8 o A A SN I FE an R
3 T vl & w1 SAvEn |
73 3ih 74 =ERTISE wE T R |
76. Téreme o TrEe
: TIAEA T W ATt S AN 1 a9
Tk | . il (A) T (B) A E
P ——— T R s
| 77. GEH T T |
(C) TR SreEg e o a F =i (A) IEET (B) Tt
W | (C) AFER (D) H
i - Arini L 78, YEHAEem T Hemd
®Y|
T |
74, (A) STECE S Re AW e (A) FTE T (B) wu= T
(B) s =1 fien & am wEE # (C) = . (D) AT
(C) srgat e & am dres d 79. 'UEH EH B 9 gEe A #d 8 | I
(D) s & fa am e 8 (A) &E S !
(B} I9MEdEA '
75. 'waa o fawamd wee (€} FE |
(A) M (D) TEEF
(B ¥ 0. ‘Erft' T w AgEEA w2 |
2 B (A) it (B) 2t
(D) & () &t (D) 2Zrdt

Ax 17
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v} Test of Language : English

FTAT TATEAT : ST
Direction (Qs. 88 - 90) : Choose the word
which is most nearly the same in meaning
as the given word,

Direction: (Cs. 81 —84) : Whichyword or phrase
test completes each sentence 7

81.

__ books on the table belong
1o Harish.
(A) Oneof the {B) All the
({C) Neither of (D) Ewvery

The problem that s facing some
business establishments

their profits.

{(A) threatens

{B) are threatening

{C) threaten

(D) have threatened

The woman carrying two large
colourful bags ___ music,

(A} teach (B} have taught
(C) has taught (D) were taught

The tabla and the sitar

g_mdtug&thar.
(A) sound (B) sounds
(C) is sounding (D) sounding

Direction ((0s. BS — 87): Choose the word which
is most opposite in meaning of the given word.

88,

Stupendous

(A) enormous (B) negligible
(C) excellent (D) marvellous
Intimate

(A) announce (B) communicate
{C) conceal (D) declare
Gentle

(A) rude (B) polite

({C) meek (O} mild

88. Bitter

(A) harsh (B) swoeet

{C) pleasant (D) meliow
B9. Hasty

(A) slow (B) matured

(C) speedy (D) leisurely
90. Obscure

(A) distinct (B) uncerain

(C) unambiguous (D) ascertained

Direction (Qs. 91 - 83) : Fill in the blank
choosing the appropriate alternative.

91.

|'would like a car like yours.
(A) have (B) had

(C} tohave (D) will have

| always read the newspaper before
—_ work,

(A) toslart (B) start

(C) started (D) starting

I don't mind here but |
would prafer 1o sit by the window.
(A) it (B) o sitting
(C) sitling (D) o have sit
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84, | usually go to work ___gar. Mahamakham festival is an event of historic
{A) on (B) by and religious significance. This holy festival
(C) in (D) through occurs only once in 12 years and Is .
95. We arved the hotal after comparable to the Kumbh Mela and similarly
miidrniaht, attracts lakhs of devotees from all over India
(A) at (B) in and abroad.
(C) %o (D) on
= 88, In which state Is Kumbakaonam
Direction ((s. 96 and 97) | |dentify the part situated 7
(A} or {(B) or {C) of the sentence which you (A Kerala
think contains error, Il there is no arror, your (B) Andhra Pradesh 1
answer |s (D). (C) Karnataka
96, Mo sooner the bell rang (A)/than there (D) Tamil Nadu V
was a scramble lor (B)getting out of
the theatre (C)/No arror (D) 89. The event of religious and historlc
importance mentioned in the above
g7. At the end of the session (A)/they paragraph s
found that a majority of the members (A} Cauvery temple festival
(Bywere solidly behind him (C)/No

(B) Stampede on the bank of river
(€} Maharmakham festival
{D} Car festival

error (D)

Direction (Cs. 98 — 100) : Read the lollowing
passage and on that basis answer the
guestions given below the passage. 100. On February 18, 1892, 50 persons
lost their lives on the northermn bank

-

Kumbakonam iz a small temple town,

siuated on the banks of river Cauvery, in of the Mahamakharm tank dus 1o
Tanjavur district of Tamil Nadu. [t was in the (A} flood
news when 50 persons, including 30 women (B) lack of food

lost their lives on the northemn bank of the
Mahamakham tank on February 18, 1992
when the wall of an old Dharmasala (D) asudden headiong rush occurred
collapsed and triggered a stampede. when a wall collapsed

{C} commaercial riot

Ax -19-




JDD-5/LAB ASSTT/X-156

SECTION-B
Post Specific Subject-Related Questions

101. Which is known as the power of the 105. Temporary Cessation of breathing is

cell 7 callad

{A) Ribosome (A} Hypoxia
(B) Cyloplasm (B) Anoxemia
(C) Lysosomes (C) Anoxia

(D) Mitochondria (D) Apnea

102. How many iron atoms is present In | yag  Normal Tidal volume is atiout
each molecule of Hb 7

(A) 1

(A) ©5—1 litres
(B) 1.5-2 litres

|) 2 :
© 3 (C) 2- 25 lifres
(D) 4 (D) 2.5-3lilres

hemophilia 7 determination of BMR ?
(A} Factor VIl {A) Manometer
(B) Factor IV (B) Photometer
(C) Factorll (C) Spectrometer
(D) Factor Vil (D) Splrometer
104. Volume changes in the heart is 108. What is the average daily reguirement
recorded by which instrument 7 for insulin ?
(A} Thermometer (A} 30-50 units/day
(B) Cardiometer (B) 50-70 units/day
(Cy Calorimeter {C) 70-90 units/day

(D} Owimeter (D) B0-110 units/day




101.

102.

103,

104,

qr — &

e wfaftees g - gt o

A Sl S A A SR e ¢
(A) Fraivie

(B) FAIEAHI

(C) FEEHFE

(D) wEEETgE

Hb % wds 3 1§ &e % fea s
FRE 7
Ay 1
(8) 2
(c) 3
(D) 4

TR Fern W s e wge A i 7
(A) ARV
(B) T
(C) Tl
(D) FERVIl

o 39 & 729 & ARG & 9ger
CARTEAER AL A

(A) e

(B) iR
(C) eI
(D) Aifertefer

105.

106.

107.

108,

21-
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TEEH o ] B I
(A) g

(B) R

(C) A

(D) wadl (Apnea)

T T i g
(A) 0.5-17%fm
(B) 1.5-2&m
(C} 2-25%H
(D) 2.5-awiEd

BMR % Fafm & fom simar summ
I Eme 7

(A} AT

(B) Wiz
(C) wEE
(D) AT

gl # T SiTea sl
i g 7

(A) 30-50%FHZH /e

(B} &0-7ogFzA /T

(C) 70-90%Fza /A

(0 B0-110%H

— —
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111.

L

What is the normal bicod cholesterol
level 7

(A) 150 — 250 mgm©e
(B} 250 - 350 mgm%
(C) 350450 mgm‘a

(D) 450 - 500 mgm%

What is the normal serum creatinine
lavel ?

A
(B)
()
()

0.5-1.0mgm%
1.5— 2.5 mgm%

0.1 - 0.4 mgmd%
25— 3.5mgm%

Which disease occurs due to the
deficiency of Vitamin A7

(A} Xerophthalim:a
(B)
(C)
(B}

Rickets
Cisteomalacia
Beari-ber|

What is the normal daily requirement
of Vitamin D 7

(A}
(B)
\C)

500 1U
1000 U
1500 U

(D) 2000 U

113.

114,

115

116.
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What is the normal Glomerular
Fiitration Rate 7

(A)
(B) B0 miminute
(C)
(D) 200 mifminute

50 mi/minute

130 mi‘minute

What s the normal concentrabion of
iodine In blood ?

(A}
(B)
1<)
(D)

0.5-1 mgm%
1,6—2 mgm%
0.1 - 0.4 mgm%%
2= 2.5 mgm%e

Which test is done to determine
pregnancy ?

(A) Ascheim Zondek lest

(B) Friedman's lest

(C) Kupperman's lest

(D) Al of the above

Which immunoglobulin forms antibody
in-an Anaphylactic reaction ?

(A)
(B)
()
(D)

lg A
g E
gD
lg M
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109,

110.

111

112,

Ax

T 1 A RS W R
(A) 150 —250 mgm%
(B) 250 —350 mgmSs
{C) 350 -450 mgm%

(D} 450 - 500 mgm%o

Fammdm s e 1
(A 0.5-1.0 mgm%

(B) 1.5-2.5mgm%
(C) 0.1-0.4mgmas

(D) 2.5-—3.5 mgme

e A S e g s i e e 7

Tt D o T shem s
(A) 500U
(B) 1000 U
(C) 1500I1U

(D) 2000 U

113

114.

115.

116.
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HITHRI T e heateA @ e 7
(A) 50 miyminute
(B) 80 mi/minute
(C) 130 mi/minute

(O) 200 mli/minute

o B AT ST o SR B R
(A) 0.5-1mgm%

(B) 1.5—2mgm% h
(C) 0.1—0.4 mgm%

(D) 2-2.5mgme

w4 % Frafon = o e wiem B

Tl e ?

(A) Ascheim Zondek TiEm
(B)
(C}
(D]
AT o AT AT 3 e e e "
s e 7 .

(A Tg A

Friedman's Tl

Kupperman's Fism

F wdt E
|

(B) IgE
(C) gD

(D) lgM
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11EI

120.

The main fibre arise from the body of
each nerve is called as

(&)
(B)
(C)
(D)

Dendrite
Axan
Elastic Fibras

Dense fibres

Inflammation of vein complicated by
an obstructing clot is known as

(A)
(B)
()
(D)

Venous thrombosis
Thrombus
Thrombophlebitis
Embolus

There are how many pairs of cranal
nerves 7

(A) 3
(B) 8
(C) ¢
(D) 12

Inability to see in dim light is called as
{A) Myopla

(B) Colour Blindnass

(C) Presbyopia

(D) Night Blindness

121,

122.

123.

124.
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Product of digested food in the
stomach s called as

(A)
(B)
(C)
(D)

Gastric Juice
Lymph
Chyme
Bolus

Which vitamin is also called as
Calcifarol 7

(A)
(B)
(C)
(D)

Vitamin A
Vitamin D
Vitamin E
Vitamin K

Microscopic study of abnormal tissue
of the body Is known as

(A)
(B)
(C)
(D)

Histology
Cytology
Histopathology
Genetics

Which Fixative Is used for the study of
witrastructure in Electron microscope ?

(A} Picric Acid
(B) Glutaraldshyde
(C} Chromic Acid
(D) Helly's Fluid




117, e FY ¥ 37 § 924 9 e
1 FEA &
() FAEEE
(B)
(C) wfeen
(D} =ATEm

118, 378 WH Fu R # i A se S aeen
1 e ©

(A) T wm e
(B) @
(C) e
(D) S

119, ey wvg i e et g € 7
(A} 3
(B) 6
(€ 9

(D) 12

120, = e T 7 e e #
(A) wEAT
(B) amiu
(C) TR
(D) T

Ax
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AT § e R T A armE
GGl

(A) SHEETE

(B) =T

(C) =hTEA [T )

D) fime

T i ) e e ¥ 7
(ay FE=fEmA
B) FEmfmD
(C) TEeRRE
(D) FaafAK

= m— i ]

TN T STETHIR S o T TR e
A T FEA E

(a) Teedtalt

(8) e

(C) Teedridresh

(D) =HfEEE

A TSR R R e
T T I R

(a) i apm

(B) "SRR

(C) i 31

(D) it FEE
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127,

128.

Which fixative is mainly used for
demonstration of enzymes 7

(A) Acetone

{B) Formalin

(C) Zenker's solution
{D) Bovin's Fluid

In freezing microtome, which gas is
used 7

(A) Oxygen

(B) COy

(C) Lithium

(D) Hydrogen

Which technique is used in histology
for immediate diagnosis 7

(A) Paraffin technique

(B) Frozen Section

(C) Celloidin Section

(D} Gelatin Section

Sudan IV stain is used for tissue
biopsy of

(A) Kidney

(8) Breast

{C) Gall Bladder

(D) Lungs

129.

130.

131.

132
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Lung cancer Is diagnosed with the
help of which specimen ?

(A} Sputum

(B) Urine

(C) Gastrointestinal Biopsy
(D) Saliva

Vaginal smears are valuable for the
assessment of

(A} Malignancy

(B) Endocring Disorders
(C) Hormonal Function
(D) um

FNAC is used for the lesions of
(A) Skin

(B) Lymph Node

(C) Breast

(D) Al of the above

Which hemaglobin Is detected by
Sahii's Method 7

(A) Carboxyhemoglobin

(B) Sulphemoglobin
(C) Methamoglobin
(D) Oxyhemoglobin




126,

1286.

A*

127.

128.

TEEN ¥ WA & fow g S
TRt = v

(A) THEF

(B) FRHIH
(C) e =1 HI
(DY e R

sfta o | FiE e I Em e 7
(A) ATl

(B) CO,

(C) Tferm

(D) TS

e e % fon Afeh (fiieth)
A I @ S e s

(A) IR T

(B) WIeH HFH

(C) Eerrdi Hae

(D) TreATeA B

T |\ TR BT IR e S
Stei e ( fewsy amaeadt ) 3 € 2
(A} T

(B) &M

(C) Tema

(D) HpH

128,

1ml

131.

132.
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o o 0w & e SR IR
b7
(A)

(B) #3
(C) =arETE it wen

(D} &K

At e g ot & gear @
(A) e

(B) e

(C) VI s

(D) UTI

FNAC %1 3w 36 912 & e g s
(A) w1

(B) =T

{C) ¥+

(D) Fw a

wreeef 1wl a e TeameiE v
FgFAE ?

e

eyt = |




134.

135.

136.

The colored pigment present in Hbis
known as

{A) Globin
{B) lron

(C) Heme
(D) Bilirubin

Which is the smallest cell in cellular
component of blood 7

(A) RBC's

(B) Platelats

{C) WBC's

(D) Reticulocyte

Bemoval of how much mi of blood
results in loss of 1 mg of lron ?

(&} 1 mi
(B) 2mil
(C} 3mi
(D) 4ml

The process of production of blood is
known as

(A) Erythropoiesis
(B) Hemopoiesis
{C) Erythropoiatin
(D) Hemastasis

137.

138.

138,

140.
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A condition In which RBC count s
increased is known as

(A) Anemia

(B} Polycythemia
{C} Thalassemia
(D) Leukemia

Reticulocytes are stained with which
type of stain 7

(A) Crystal violet

(B) Hematoxylin Stain
(C) Brilliant Cresyl Biue
(D) Eosin

Which method Is used for estimation
ol ESR ?

(A) Westergren's Method
{B) ﬂukg Method

{C) Sahli's Method

(D) vy Method

A fall In leucocyte count below
4000/eu mm of biood is called

(A) Leucocytosis
(8) Thrombocytopenia
(C) Leucopenia

(D) Leukemia
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133

134,

A=

135.

136.

Hb ¥ e T T 21
(A) eI

(B) #®

(C) #H (Heme)

(D) fafemRa

R ¥ iR e O arufies 88
FiferR B

(A) RBC

(B) eete (e )
(C) WBC

(D) ifeEiEEe

Tl w7 (mi) @ P # 1 mg
e FAE e ?

(A) 1mi

(B) 2ml

(C)y ami

(D) 4ml

TR ITTTE Wi W FE §
(A} Enythropoiesis
(B) Hemopoiosis
(C) Erythropoletin

(D) Hemostasis

137.

138.

139.

140,
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form el ¥ RBC T3z wga & 34
ELGE

() T

(B) e

(C) e

(D) g

TgEmza 1 e TEe & g |
FfrsA e g 7

(A) TREzE EEEE

(B) Wi ieH gea

¢y Tl Bfaasg

(D) & (Eosin)

ESR & fruton § sl oaHfl mm 5
it § 7

(A) ST e

(B) =0 d¥s

(C) W I

(D) w7 s

T B v 1 HTI024000/cu mm
3 e B A 3 e 1
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|
Jj _ Which stain is routinely used for 145, In children bone marrow biopsy is
(1 differential count ? taken from
(A) Leishman Stain (A) Proximal Tibia
{B) Albert Stain (B) Ribs
(C) Gram Stain (C) lliac crest
(D)  Acrdine stain (D) Veriebral Bodies
142. Platelets have which colored granules 7 | 146. Which method of platelets counting
(A) Blue Black Is preferred for accurate count ?
(B) Pink Red (A) Countering Chamber Method
(C) Yeliowish Green (B)  Shde Mathod
(D) Pink Purple (% Calrmesy. sesy

(D) Holder method
143. How many lobes are present in

Neutrophil 7 147. Which dilutant is good for REC and
(A 1-2 Platelet counting 7
8) 2-6 (A) Formal Saline
() 2-3 (B) Formal citrate
(D) 5-10 (C) Sodium Citrate
(D) Formalin

144. Which Leucocyte protect our body
against allergic reaction and parasitic | 148. Which Protein is synthesized by

infestation ? platelet 7

(A) MNeutrophil (A} Albumin

(B] Eosinophil (B} Giobulin

IC) Lymphocyte (€} Fibrinogen
(D) Macrophage (D) Collagen

Ax -30-
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142,

143.

144.

141, T wrrave o Foru ahvran wea

TRMETE

(&) T

(B) 3TETe =

(C) TmEA

(D) UBFEEAEA

fepwaroy <t s furem T Tt Bl 2 7
(A) e ==

(B) T
(cy el e

(D) Ty e

e i el arfert giefi £ 7
(A 1-2

B) 2-86

(C}y 2-3

0y 5-10

I S TSR BAR I ) R

witfare i st smgamn A s R 7

(A) e
(B) Feiiwe
(C) TewmmEe
(D) WaHIES

145.

146.

147,

148.

JOD-5/LAB ASSTT/X-15

] 8 H ) AR g8 A e
(A e fRen

(B) el

(C) =iitg i

(D) Il

Taeamoy = witapa feredt 3 feoro e v

o1 = T s ) 7
(A)  TEeH dr= dys
(B) TR AYE

(C) et @

(D) TiostHYE

RBC sy e wrave & fom m
AR Awa 7

(A) e FETE

(B) wHEAEZ .

(C) @ifeam aEge

(D} EHETeH

Fararoy & v A Hve e e
=R T

(A) FEERE

(B) wireAfeH
(C) wmahEEH

(D) =l
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149, What ks the normal Bleeding Time, by 153, The agglutinogen develop in the

Duke method 7 smbryo afler how many days of
(A} 1-6 minute conception ?
(B) 6- 10 minute (A) 10
() 10— 14 minute (B 20
WY 15~ 20 minute {c) 30
(D) 40

150, Menstrual blood generally does not ciot
due to presence of which substance in 154 . Content of which mineral is increased

uterine wall 7 in cell during cold storage of biood 7
(A) Thrombin Activators (A) Sodium
(B) Plasmin Activators (B) Potasslum

(C) Calcium

(C} Anticoagulants

(D) Hirudin (D) Phosphorous

155. Transfusion of blood or blood products

151, Most tibodies are of whi
1 g . o previously collgcted from the same

class ? parson is calied

(A) IgE (A) Direct transfusion

(B) gD (B) Indirecttranslusion
(C) IaG (C) Autologous transfusion
D) oM

(D) Homologous transfusion

152. The reaction between antigen and 156
anlibody 1s known as

. Which reagent is used as a Primary
stain In Gram stain 7

(A) Hemolysis (A) Lugol's lodine
(B} Auto agglutination (B) Crystal Violet
(C) Agglutination (C) Acetons

(D) Pan agglutination (D) Safranin




149,

150.

151.

152.

T TG o AR HRT A S
TR 7

(A) 1-6fe

B) s—10fmz
(C) 10-14Tme
(D) 15-20 T2

T g Ee I o R
¥ ToR ) G ] 8T E

(A) @i e

(B) =l ST

(C) wfEmH

(D) fwiEA
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Which solution divides the bacteria
into Acld and Non- Acid fast ?

(A) Albert Stain

(B) Gram Stain

(C) Ziehl-Neelsan Stain
(D) Malachite Green Stain

Which gas is commaonly used for
starlization operation theatras 7

(A) Formaldehyde

(B} Beta proplolactone
(C) Ethylene Oxide
(D) Methylene Oxide

Widaly used solidifying agent for the
praparation of solid media is

{A) Blood

(B) Peplone water
(G) Agar

(D) Broth

Which type of media contains the
substances that prevent the growth of
microorganisms 7

{A) Enrchment Media
(B8) Ennched Media
(C) Selective Media
(D} Transport Media

161.

162,

163.

164,
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For Pasteurization of milk, it is heated
how lang at 63 degree Celsius 7

(A) 20 minutes
(B) 40 minutes
(C) 20 minutes
(D) 50 minutes

Which test is used to difterentiate
Gram Negative Bacilli 7

(A} Hydrogen Sulphide test
(B} Indole test

(G} Lecithinase test

(D) Deoxyribonuclease test

Which antibiotic inhibit the cell wall
synthesis ?

(A) Penicillin

(B) F‘nlyr_nyﬂns
(C) Tetracycline
(D) Enythromycin

Which Culture Medium is used for
Antibiotic sensitivity lest 7

(A) Blood Agar
(B) Thayer Martin medium
(C) Whey water

(D) Muller-Hinton broth
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167.

168,

165. Which among the foliowing indicates

growth in the Culture Medium ?
(&) Turbidity

(B} Precipitation
(C) Coagulation

(D) Pigment Formation

Nosocomial Infection is caused by
which species of pseudomonas

(A) Pseudomallei
(B) Aeruginosa
(C) Mallai

(D) Al of the above

Tetanus is caused by Clostridium
(&) Perfringens

(B) Botulinum

(C) Difticlle

(D) Tatani

Baclllary Dysentery Is caused by
(A)
(B)
(C) Proteus species

Shigelia

Salmonella

(D) Citrobacter

169.

170.

171.

172,

JDD-5/LAB ASSTT/X-15

Which specimen is more appropriate
for culture of bacteria in the 15 week

of typhold 7
(A) Faeces
(B) Urine
(C) Blood
(D) CSF

Which among the following is used for
the detecfion ol malarial Parasite 7

(A)
(8
(S}
(D)

Platelets
Far:t-:_ed Red Cells
Serum

Plasma

Which serological test is done in
Ascarlasis 7

(A) ELISA
(B) BFT "
(C) CF
(D) IHA

Amoebic Dysentery is caused by
which parasite s

(A} E Histolytica
(B) Giardia Lambiia
{Cy E. Coli

(D) B. Coli
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173.

174,

1756.

176:

Ribbon like Helminth Parasite are
known as

(A} Tapeworms
(BY Flukes
{C) Roundworms

(D) Amoeba

Chickan-Pox is caused by
(A} Herpes Simplex

(B) Varicella

(C) Adenovirus

(D) Carno virus

The most commonly used cell-lines
for isolation of virus is

(4) Primary Monkey Kidney
(8) Human Diploid Fibroblasls
(C) HEp2

(D) Al ot the above

The Incubation period for Hepatitis B
Virus Is

(A} 1 -6 weeks
(B) 1-6months
({C) B-12weaks
(D) B-12 months

JDD-5/LAB ASSTT/X-15

177.  Which of the following is Live vaccing 7
(A} Oral Polip Vaccine
(B) Hepatitis Vaccine
{C) Rabies Vaccine

(D) Influenza Vaccine

178. The mosquito which acts as vector for
Dengue Fever 7

(A} Culex

{B) Aedes

(C) Anopheles

(D) Al of the above

179, ‘Which test is used for Leprosy Patient?
(A) Shick test
(B} Frei's lest
(C) Mantoux test

(D)} Lepromin test

180. Which type of immunity is acquired
by direct exposure of an antigen 7

(A} Active Immunity
(B} Passive Immunity

(C) Adaptive Immunity

(D) Herd Immunity
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J[’ f 181. How many major immunoglobulins 185. Which of the following Is an example
are there 7 of auto immune disease 7
| (A) 3 (A) Myasthenla Gravis
(B) 4 {B) Addison's Disease
{C) 5 (C) Pemicious anemia
D) 8 (D) Al of the above

182. The presence of which antibody in a 186. Elek's test is used to detect toxin

fetus indicates intrauterine infection 7 strains of which bacteria ?
(&) loG (A} Bacillus
(B) IgA (B} Bordetalia
(C) IgD (C) Corynebacterium
() lgh (D) Clostridium
183. Alpha Interfaron is produced by 187. The indicalor used in complement
(A) Leukocyles fixation test consist of
(B) Red Blood Celis (A) Rabbit Red cells
(C) Fibroblasts (B) Human Red cells
(D) Platelets (C) Sheep Red cells

(D) MNone of these
184. Which type of Hypersensitivity is

called as Atopy 7 188. VDRL testis done for the diagnosis of
(&) Type! (A} Syphilis

(B) Typell (B) Q Fever

(C) Typelll (C) Influenza

(D) Type IV (D) Meningitis
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188. Metabolic disorder associated with 193, The convarsion of Lactic Acid to

abnormal metabolism of Tyrosine is Glucose occurs at
I d called (A} Glycolysis
(A} Albinism (8) Cori Cycle
(B) Alkaptonuria (C} Urea Cycle
(C) Phenylketonuria {D) HMP shunt

(D) Tyrosinosis
194, Breakdown of Glycogen to glucose is.

190, Which form of sugar is found in milk ? lefmed as
(A) Sucrose (A) Glycolysis
(B) Laclose (B) Glycogenolysis
(C) Maltose (C) Glycogenesis:
(D) Starch (D) Gluconeogenesis

195, Urea Cycle occurs inwhich part of the
191. Iniodine test, which color precipitale

body 7

indicates the presence of starch 7

{A) Kidney
(A} Red

(B) Stomach
(B} Blus .

(C) Liver
c) Yell
il (D) Heart
(D) Green

196. Which method is most commaonly
192. The end product of glycolysis is used for Urig Acld estimation 7

(A} Lactate (A) Berthelot Method
(B} Owxaloacetate (B) Caraway Method
{C) Pyruvate (C) Diacetyl Monoxime Method

(D) Acetyl CoA (D) Sulphosalicylic acid Test
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197, The separation of charged particles | 199. Which disease is caused due to low

: through an electrolyte under the iodine diet 7

' influence of an electric current Is
— (A) Goitre
{A) Chromatography (B) Acromegaly
(B) Electrophoresis (C) Cretinism
(C) Immunofluorescence (D) Beri-ber

(D) Immunodiffusion
500. Which hormone is detected in urine/ |

188. The excessive quantity of fat which serum to diagnose pregnancy 7
Is excreted in feces Is known as
(A) T3
(A) Steatorrhoea
(B) Proteinemia =) Andregen
S (C) HCG
(D) Haematuria (D) Oxytocin

Ax e
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FufraaTi o fore Fewgot A

This ookl contains 48 pages,

Please chack all the pages of the Booklet
carelully, In casa of any defect, ploase ask
the Invigilator for replacament of the Booklel,

Directidng ; Each guesticn or incomplete
statement |s followed by four altemative
suggesied answers of compietions. In sach
case, you are required to select the one thal
comaclly answers the question or completes
the statement and blacken (@) approprale
circle A, B, € or D by Biue/Black Ball-Point Pan
against tha guestion concernad in the
Answar-Sheet. (For V.H. candidates
corresponding circle will be blackenad
by the soribe)

Mark your answer by shading the appropraie
gircle againal each question, The circle should

bie shaded completely withoul keaving &y space.
The comrect mathod of shading is given balow.

Winreg Mated [Wieng Moo J'-'.llnm Ko | Cormet WMsined

D&Y Dﬂ oolceoQl0eno

The Candidata must mark hisfhar response
after careful consideration.

Thera = only one cofféct answer to each
question. You should blacken (@) the circle
of the appropriate colump, viz, A, B, CorD
If you blacken (@} more than one circle
agalnst any ona question, the answer will be
freated as wrong. If vou wish 1o cancel any
answar, you shauld completaly erase that black
mark in tha clrcle in the Answer-Sheet, and
then Blacken the circle of mvised response.

A maching will read the coded information
in the OMR Answear-Sheet. In case the
information 15 Incompleta/different fram the
infarmation given in the application form, the
candidaturs of such candidate will be reated
as cancailed

Usa the space for rough work given in the
Cuestlon Bookle! only and not on the
Answer-Bheeat

. You are NOT required 1o mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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